CHAPTER 11: HYPOTHESIS TESTING INVOLVING THREE OR 

MORE POPULATION MEANS: ANALYSIS OF VARIANCE

PRACTICE PROBLEMS
1. You think that level of education is related to criminal behavior.  You take a sample of 9 people with differing levels of education and have them self-report on criminal behavior in the past year.  
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a. What is the independent variable and what is the dependent variable?

IV:  
DV:  

b. Test the null hypothesis that the three population means are not different against the alternative that they are different.  Use an alpha of .05.
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c. If they are different, conduct the Tukey’s HSD test to determine which pairs of means are different.

d. What is the strength of the relationship?

2. State laws vary in the degree to which employers are allowed to have access to information about the criminal history records of potential employees.  In particular, Florida allows employers very open access, Michigan provides access for only some employers, and Tennessee provides access to no employers.  Employers sometimes use the criminal history records to avoid hiring ex-offenders.  As a result, ex-offenders in states where it is easier to find out who is an ex-offender have worse employment outcomes (lower wages) than ex-offenders in states with more restrictive laws.  To test this hypothesis, a researcher surveys 50 ex-offenders each in Florida, Michigan and Tennessee.  The average hourly wages for these ex-offenders are listed below by state.
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nFlorida = 50



nMichigan = 50



nTennessee = 50

The grand mean is $8.51
TSS (Total Sum of Squares) = 635.54

Calculate the Between Sum of Squares

a. What is the independent variable and what is the dependent variable?




IV: 
DV:  

b. Test the null hypothesis that the three population means are not different against the alternative that they are different.  Use an alpha of .01

	ANOVA
	

	
	Sum of Squares
	df
	Variance
	F

	Between
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	Total
	635.54
	


c. If they are different, conduct the Tukey’s HSD test to determine which ones are different. 

d. What is the strength of the relationship? 
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